RIS =Y A7 Iy
HTR-D30-1 M16x1-1G FSTE PXT

Art.-Nr.: 10.01.49.00038

P
SCHMALZ
S

HTR-D30-1 M16x1-IG FSTE PXT

E#rEs

Eit &

A EVa-IRKTVIN=Y AT A
TJUyN-DEEL 53.40 mm

4MZD 30.00 mm

AL v EG1 M16x1-F

bl 7 FSTEFH

I ORE— LK

707 4 =)L D30-ITEM

H2

n-l

'_nl‘ll

FH4A > F =4 HTR-D30-1 M16x1-I1G FSTE PXT

Q@ zowoun

FHIYTF—4

Bt &
TUyN-DRE L2 62.00 mm
JUyI—-ORE L 53.40 mm
= H2 2.00 mm
9MZD 30.00 mm
ALy EG1 M16x1-F
TJUyIN—DEE L3 50.00 mm
SE H3 15.00 mm

COREICHATZCADT—IE LUV ZTOMOENIT. UTESBEOZ &L : www.schmalz.co.jp/10.01.49.00038

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp

(©  WWW.SCHMALZ.CO.JP/10.01.49.00038


https://schmalz.saas.contentserv.com/www.schmalz.co.jp/10.01.49.00038

RV =Y AT A
SC
HTR-D30-1 M16x1-1G FSTE PXT SCHMALZ

Art.-Nr.: 10.01.49.00038

% FT=AT7otY ) —%EXT 3 10.01.49.00038

Typ m@a-
IS5 aA%9 %49 (LF) SVB-WIN 8-6/6-4 KU-ROH 10.08.02.00501
IS7axv4 (LF) SVB-WIN 8-6 KU-ROH 10.08.02.00542
IS55aA%949 (AFL—F) SVB-GE 8-6/6-4

10.08.02.00543

(©  WWW.SCHMALZ.CO.JP/10.01.49.00038

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp



